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1 28%% | 1855101 1 =ERTEE | 29 136.03 18.97 117.06 5122 5952 696776 wE EiE | BREHR
2 28%k | 1555201 2 ZEET=E | 29 142.49 19.87 122.62 5789 6727 824859 #E FER | BEREHR
3 281k | 1555301 3 =EERT=E | 29 142.49 19.87 122.62 6011 6985 856523 wE ER | ERER
4 28#k | 1855401 4 ZERT=E | 29 142.49 19.87 122.62 6033 7011 859690 (Si ER | ERER
5 28%k | 1855501 5 SERT=E | 29 142.49 19.87 122.62 6256 7269 891354 weE ER | EREIR
6 2845 | 1857601 6 ZERT=E | 29 142.49 19.87 122.62 6300 7321 897687 wE FE | ERER
7 8%k | 185701 ) ZSERT=E | 29 142.49 19.87 122.62 6344 7373 904020 e ER | ERER
8 28# | 1855801 8 =ERT=E | 29 142.49 19.87 122.62 6367 7398 907187 i EF | ERER
9 28#% | 1855901 g ZERT=2 | 29 142.49 19.87 122.62 6411 7450 913519 e EF | EREER
10 | 28#% | 15551001 10 |=BEEF=R| 29 142.49 19.87 122.62 6456 7502 919852 i EiE | BRER
11 | 28#% | 18531101 1 CERT=E | 29 142.49 19.87 122.62 6500 7553 926186 HeE EF | EREBEIR
12 | 28#k | 18551201 12 | =ZE®F=E| 29 142.49 19.87 122.62 6544 7605 932518 i EFE | ERHER
13 | 28# | 18551301 13 |=BEEF=R| 29 142.49 19.87 122.62 6589 7657 938851 S EE | ERER
14 | 28#% | 1835T1401 14 | =ERF=E| 29 142.49 19.87 122.62 6444 7489 918269 S EFE | ERHEIR
15 | 28#k | 18551501 15 | =BERTF=E| 29 142.49 19.87 122.62 6656 7734 948350 HE EF | ERER
16 | 28# | 15T 1601 16 |=BFET=E| 29 142.49 19.87 122.62 6700 7786 954683 e ER | ERER
17 | 28% | 185%1701 17 | =BEREF=R| 29 142.49 19.87 122.62 6656 7734 948350 i EE | ERHEIR
18 | 28%k | 18571801 18 | =EEF=E| 29 142.49 19.87 122.62 6300 7321 897687 i ER | ERER
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22 28 1% 1 B3¢ 2201 22 =ERT= 29 142.49 19.87 122.62 6544 7605 932518 HeE EiR BERER
23 28 1% 1 8831, 2301 23 —ERT=12 29 142.49 19.87 122.62 6522 7579 929351 e SN BEREIR
24 28 1 Byt 2401 24 =EFRT=E 29 142.49 19.87 122.62 6333 7360 902437 [ea=o EIR BERERR
25 28 ¥k 1 8a57 2501 25 =ERT=2 29 142.49 19.87 122.62 6433 7476 916686 HE ES BERER
26 281k 1 B3t 2601 26 =ERT= 29 142.49 19.87 122.62 6367 7398 907187 o= EiR BENRER
27 28 R 1 8355 2701 27 =ERT=2 29 142.49 19.87 122.62 6300 7321 897687 HeE EiR ENREER
28 28 1% 1 Byt 2801 28 =ERT=E 29 142.49 19.87 122.62 6233 7243 888188 FEa=3 EIR EREE
29 28 ¥ 1 8235, 2901 29 ZERT= 29 142.49 19.87 122.62 6167 7166 878689 #HE EIR BRI
30 28 ¥ 1 BA5% 3001 30 =ERF=1 29 142.49 19.87 122.62 6100 7088 869189 e ESN BEREiR
31 28 ¥R 1 8855 3101 31 =ERT=E 29 142.49 19.87 122.62 5789 6727 824859 o= EIR BEREPIR
32 28 ¥k 1 855102 1 =ERTWE 29 129.03 17.99 111.04 5589 6494 721134 BHE EZ ERER
33 28 ¥ 1 Byt 202 2 =ERTWIE 29 128.28 17.89 110.39 5956 6921 763979 e E1Y BRER
34 28 ¥& 1 8855 302 3 —ERTRE 29 128.28 17.89 110.39 6178 7179 792486 =HE EIR BREIR
35 28 ¥ 1 8355 402 4 =ERTWE 29 128.28 17.89 110.39 6200 7205 795336 e EiR BERER
36 28 R 1 8855 502 5 —ERTREE 29 128.28 17.89 110.39 6422 7463 823842 =#E E S BRER
37 28 & 1 8357 602 6 =EFWTRE 29 128.28 17.89 110.39 6467 7515 829544 e ES7) BRER
38 28 ¥ 1 855702 7 =ERTRE 29 128.28 17.89 110.39 6511 7566 835246 e EiR BERER
39 28 ¥k 1 35T 802 8 =ERTHEE 29 128.28 17.89 110.39 6533 7592 838096 HE ES) BERER
40 28 ¥k 1 855,902 9 —ERTRE 29 128.28 17.89 110.39 6578 7644 843798 e EiR BERE
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43 28tk 1 Bij5 1202 12 —ERTHRE 29 128.28 17.89 110.39 6711 7799 860901 HeE E SN BHIREBR
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53 28415 | 18552202 22 =ERTRE 29 128.28 17.89 110.39 6711 7799 860901 FE ER BIRER
54 284k | 18552302 23 =BERTHE 29 128.28 17.89 110.39 6689 7773 858051 e EIR BERER
55 2845 | 18552402 24 =ERMTHRE 29 128.28 17.89 110.39 6500 7553 833820 e ER BERER
56 284k | 18552502 25 =EFTHE 29 128.28 17.89 110.39 6600 7670 846648 #E E1) BRER
57 284 | 18552602 26 =ERTHRE 29 128.28 17.89 110.39 6533 7592 838096 e ER | ERER
58 2845 | 18552702 27 =EFMTRE 29 128.28 17.89 110.39 6467 7515 829544 = ES BEORER
59 28#5 | 18552802 28 =ERTHE 29 128.28 17.89 110.39 6400 7437 820992 (=i EiF BERERR
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64 28%k 1 855 203 2 WERTHRE 29 118.91 16.58 102.33 5900 6856 701569 =#E EiE BENRERR
65 28 1% 1 £85% 303 3 TWERTRIE 29 118.91 16.58 102.33 6122 7114 727993 =#E EZ17) BERER
66 284K 1 8255 403 4 HEMTHIE 29 118.91 16.58 102.33 6144 7140 730636 HE EiE BEURERIR
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69 281k 1555703 7 TERTHIE 29 118.91 16.58 102.33 6456 7502 767630 =#E FE | BRI
70 28k 1 855803 8 HERTHE 29 118.91 16.58 102.33 6478 7527 770272 e EiR | EREER
71 281k 1 £835 903 9 WERTHE 29 118.91 16.58 10233 6522 7579 775558 #E EE | EREBER
72 2845 | 18551003 10 WERTRE 29 118.91 16.58 102.33 6567 7631 780842 e ER EREIR
73 281 | 13551103 11 WERTHE 29 118.91 16.58 102.33 6611 7682 786128 HE ES BRER
74 284 | 18551203 12 TERTFI 29 118.91 16.58 102.33 6656 7734 791412 (5i=d EiR BERERIR
75 28#% | 18551303 13 WERMTHE 29 118.91 16.58 102.33 6700 7786 796697 #eE EIR BEREIR
76 284k | 18551403 14 HERTFIE 29 118.91 16.58 102.33 6556 7618 779521 #E ES BERER
77 284 | 18551503 15 TWEMTRIE 29 118.91 16.58 102.33 6767 7863 804624 #E EiR | ERER
78 28%% | 18551603 16 TERTRHEE 29 118.91 16.58 102.33 6811 7915 809909 =#E ES7 BERER
79 284k | 18551703 17 WERTAIE 29 11891 16.58 102.33 6767 7863 804624 5= EiE BENREIR
80 28% | 18551803 18 HEMTARE 29 118.91 16.58 102.33 6411 7450 762346 #E ES7) BERERIR
81 2845 | 18551903 19 HERTAIE 29 118.91 16.58 102.33 6722 7811 799340 B EiR BRI
82 284k | 18552003 20 WERTEE 29 118.91 16.58 102.33 6700 7786 796697 e ES BERER
83 28%% | 18552103 21 HEMTHI 29 118.91 16.58 102.33 6678 7760 794054 (=S ER BURERIR
84 28#%% | 18552203 22 WERTHE 29 118.91 16.58 102.33 6656 7734 791412 =#E ES7) BRI
85 284k | 15552303 23 HERTFIE 29 118.91 16.58 102.33 6633 7708 788770 #E EiF BERER
86 284k | 1572403 24 BRI 29 118.91 16.58 102.33 6444 7489 766309 e ER BEREHR
87 284k | 18552503 25 HERTFE 29 118.91 16.58 102.33 6544 7605 778200 =#E ES) BERER
88 28%5 | 18552603 26 HERTAME 29 118.91 16.58 102.33 6478 7527 770272 e Ei BRI
89 284k | 18552703 27 FERTARIE 29 11891 16.58 102.33 6411 7450 762346 FE =S BRI
90 2845 | 18552803 28 HERTHE 29 118.91 16.58 10233 6344 7372 754418 FE E217) BEREIR
91 284k | 15552903 29 TWERTRIE 29 11891 16.58 102.33 6278 7295 746491 == EC1) BEUREIR
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95 28 1% 1 8a5t 204 2 HWERTRLE 29 118.76 16.56 102.20 6011 6985 713880 5 E S0 ERER
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97 28 R 1 Bjg 404 4 BT 29 118.76 16.56 102.20 6256 7269 742910 HeE EiR BERER
98 28 ¥ 1 Bt 504 5 WERTHRE 29 118.76 16.56 102.20 6478 7527 769301 FEi=S EiR BRI
99 28 #& 1 Ba55 604 6 HWERTHRE 29 118.76 16.56 102.20 6522 7579 774579 HE EiR BEIRER
100 28 ¥R 1 A5 704 7 HERTHIE 29 118.76 16.56 102.20 6567 7631 779858 =#E ES7 BERERR
101 28tk 1 a5 804 8 HWERTHRE 29 118.76 16.56 102.20 6589 7657 782497 5= EE B
102 28 ¥k 1 825t 904 9 HWERTHRE 29 118.76 16.56 102.20 6633 7708 787774 e ES BERER
103 28 1 85t 1004 10 HERTHI 29 118.76 16.56 102.20 6678 7760 793053 = EIR BRI
104 28 ¥ 18551104 11 HWERTHE 29 118.76 16.56 102.20 6722 7811 798331 e ES1Y EREIR
105 28 ¥ 1 88551204 12 HWERTHRE 29 118.76 16.56 102.20 6767 7863 803609 e EIR BRI
106 28 1% 1 85t 1304 13 HWEBTHRE 29 118.76 16.56 102.20 6811 7915 808888 HE ES BERER
107 281k 1 85z 1404 14 HWERTHRE 29 118.76 16.56 102.20 6667 7747 791733 =#FE ES7) BEREIR
108 28 1% 1 8455 1504 15 HERTHRE 29 118.76 16.56 102.20 6878 7992 816804 e E S BERER
109 28 ¥k 1 8% 1604 16 HERITHE 29 118.76 16.56 102.20 6922 8044 822083 e EiR BEREER
110 28 ¥ 1 B35 1704 17 HEmRETRIE 29 118.76 16.56 102.20 6878 7992 816804 =#HE EiE BIRERHR
11 28 ¥ 1 a5 1804 18 HWERTHRE 29 118.76 16.56 102.20 6522 7579 774579 o= E7) BRIk
112 28 ¥ 1 8455 1904 19 HWERTHRE 29 118.76 16.56 102.20 6833 7941 811527 HE ESY ERERIR
113 28 ¥ 1 B35 2004 20 HERTHE 29 118.76 16.56 102.20 6811 7915 808888 5E EiF ERERIR
114 28 1 8552104 21 HWERTHRE 29 118.76 16.56 102.20 6789 7889 806249 e E27) BEREIR
115 28 ¥R 1 8455 2204 22 TWERTHE 29 118.76 16.56 102.20 6767 7863 803609 =#eE ES1N ERER
116 28 ¥ 1 8857, 2304 23 HERTHE 29 118.76 16.56 102.20 6744 7837 800970 #He ESN BERER
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117 284k | 152552404 24 TWERTARIE 29 118.76 16.56 102.20 6556 7618 778538 5= FiR | EREHR
118 284F | 18552504 25 FERTARI 29 118.76 16.56 102.20 6656 7734 790413 (=4 ER | EREHR
119 284k | 18T 2604 26 FERTAIE 29 118.76 16.56 102.20 6589 7657 782497 =#E R | BREBR
120 284k | 18552704 27 TERTRI 29 118.76 16.56 102.20 6522 7579 774579 HE ER | EREHR
121 28#F | 18512804 28 FERTRIE 29 118.76 16.56 102.20 6456 7502 766662 =#eE ER | EREBEIR
122 28%k | 15552904 29 HERTARIE 29 118.76 16.56 102.20 6389 7424 758744 (=3 ER | EREHR
123 284k | 1853004 30 WERTARLE 29 118.76 16.56 102.20 6322 7347 750827 e EIR BRI
124 | 28%k | 18553104 31 TERTHIE 29 118.76 16.56 102.20 6011 6985 713880 FE ER | EIREIR
125 28k 2 555,101 1 =ERFRE 29 136.08 19.02 117.06 6322 7349 860328 HE ER | EREPEIR
126 28k 2 B35, 201 2 =ERT=E 29 142.54 19.92 122.62 6544 7608 932846 (= FEiR BERER
127 281k 2 857, 301 3 =ERT=E 29 142.54 19.92 122.62 6767 7866 964521 e EiR | EREHR
128 281k 2 Bajt 401 4 ZERT=1 29 142.54 19.92 122.62 6789 7892 967688 = ES BERERIR
129 281k 2 855,501 5 =ERT=1 29 142.54 19.92 122.62 7011 8150 999363 HE B BEREIR
130 | 28%K 2 555,601 6 =ERMT=1 29 142.54 19.92 122.62 7056 8202 1005699 s EiR BRER
131 28k 2 B35 701 7 =ERIT=1 29 142.54 19.92 122.62 7100 8253 1012034 #E EiR BEREIR
132 281% 2 B35 801 8 =ERT=1 29 142.54 19.92 122.62 7122 8279 1015201 HE EiR B
133 28 %k 2 B35 901 9 =EEr=1 29 142.54 19.92 122.62 7167 8331 1021537 #E EiR BERER
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135 | 28%k | 285t 1101 11 ZERT=1 2.9 142.54 19.92 122.62 7256 8434 1034207 #eE Eif BEREIR
136 | 28#k | 283t 1201 12 =ERT=1 29 142.54 19.92 122.62 7300 8486 1040542 #eE EF BERER
137 | 28%F | 283t 1301 13 =ERT=1 29 142.54 19.92 122.62 7344 8538 1046877 B#E EiF BERER
138 | 28#%k | 28T 1401 14 =ERT=1 29 142.54 19.92 122.62 7200 8370 1026288 #E EiE BURERIR
139 | 28#k | 28551501 15 =ERT=1 29 142.54 19.92 122.62 7411 8615 1056380 &5 iR BEREIR
140 | 28%k | 285t 1601 16 =ERF=E 29 142.54 19.92 122.62 7456 8667 1062714 (= EiR BEURER
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141 | 28%% | 2851701 17 SERT=R2 | 29 142.54 19.92 122.62 7411 8615 1056380 #eE EE | ERER
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143 | 28%% | 2851901 19 SERmT=E | 29 142.54 19.92 122.62 7367 8563 1050044 = EE | ERER
144 | 28% | 25T 2001 20 SERF=E | 29 142.54 19.92 122.62 7344 8538 1046877 S FiE | ERER
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146 | 28%% | 2552201 22 =EWF=2 | 29 142,54 19.92 122.62 7300 8486 1040542 i EE | EREER
147 | 28#%% | 2 85T 2301 23 =ERT=1 29 142.54 19.92 122.62 7278 8460 1037374 #E ER | ERER
148 | 28#% | 2 ET 2401 24 SERT=E | 29 142.54 19.92 122.62 7089 8240 1010450 e EF | BReR
149 | 28#% | 2 BT 2501 25 SERT=E | 29 142.54 19.92 122.62 7189 8357 1024704 s EiE | EREIR
150 | 28#%% | 2532601 26 =ERF=E | 29 14254 19.92 122,62 7122 8279 1015201 #E= FiE | EREIR
151 | 28#%% | 283532701 27 ZERT=E | 29 142,54 19.92 122,62 7056 8202 1005699 & Eif | ERER
152 | 28#F | 2 HT 2801 28 SERmT=E | 29 142.54 19.92 122.62 6989 8124 996197 e EF | EREBIR
153 | 28#% | 28552901 29 =ERT=2 | 29 14254 19.92 122.62 6922 8047 986693 = EE | EREIR
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155 | 28# | 25% 3101 31 SERF=R | 29 142,54 19.92 122.62 6544 7608 932846 o= EFE | ERER
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160 | 28%k | 2855502 5 ZERTRE | 29 128.33 17.94 110.39 7178 8344 921124 == FiE | ERER
161 | 28%& | 28T 602 6 =ERTWE | 29 12833 17.94 110.39 7222 8396 926828 HeE FiE | EREIR
162 | 28% | 285p702 7 ZERTEE | 29 128.33 17.94 110.39 7267 8448 932531 = ER | EREHR
163 | 28#%% | 28855802 8 ZERTRE | 29 128.33 17.94 110.39 7289 8473 935383 = EiF | EREHR
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169 | 28#; | 2 5T 1402 14 =ERTRE | 29 128.33 17.94 110.39 7367 8564 945364 e EFE | ERER
170 | 28#k | 28851502 15 ZERFRE | 29 128.33 17.94 110.39 7578 8809 972457 =t EE | ERER
171 | 284%% | 281551602 16 =ERTRE | 29 12833 17.94 110.39 7622 8861 978160 B EFE | BRI
172 | 28% | 2851702 17 =ERTRE | 29 128.33 17.94 110.39 7578 8809 972457 s FE | EREIR
173 | 28%% | 2851802 18 ZERTRE | 29 12833 17.94 110.39 7222 8396 926828 e ER | ERER
174 | 28%F | 288551902 19 ZERTRE | 29 12833 17.94 110.39 7533 8758 966752 e EFE | ERER
175 | 28%% | 283552002 20 ZERTRE | 29 12833 17.94 11039 7511 8732 963901 = ER | ERER
176 | 28#% | 2852102 21 =ERTRE | 29 12833 17.94 110.39 7489 8706 961049 e EiF | EREIR
177 | 28#%% | 28552202 22 =ERTHRE 29 128.33 17.94 110.39 7467 8680 958198 =#E EE | BRIk
178 | 28#%% | 28552302 23 ZERTRE | 29 128.33 17.94 110.39 7444 8654 955346 s EE | EREIR
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180 | 28#% | 28552502 25 EERTRE | 29 128.33 17.94 110.39 7356 8551 943939 o= EE | EREIR
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